01103/02203/P01103

2018(Even)

Time : 3 Hrs. Sem.- I/I1
Engg. Chem.
Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question

carries 1 mark.

T-A ¥ Tt w9 % I <, yF W H AE 1 3w € |

Answer all five questions from Group B, each question
carries 4 marks.

9-B ¥ Uier Yo % ST ¥, Tk YA ol T 4 3HF B |

Answer all five questions from Group C, each question
carries 8 marks.

T9-C ¢ °iel 99l & ST <, Wk U9 okl UM 8 3k B |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
Tk U9 & Gl 3790 1 I T & e (TR 8 §) B
=fey, T=ren 8 & Sif= S b © |

The figures in right hand margin indicate marks.
T¢ wisd & ek YU & G ¢ |
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1.

GROUPA

Choose the most suitable answer from the following
options :
qaifys STga faweq &t g fafem

(1)  The equivalent weight of a bivalent metal (M)
i1s 12. Molecular weight of its oxide is:

(a) 24
(b) 28
(c) 40

(d) None of these
() Tg "arsht urg (M) &1 99qed 9R 12 € @
S% STHIES H1 AU IR Bh:
(31) 24
(7)) 28
(F) 40

() T4 ¥ HE &

(i) When 5 =2 the value of azimuthal quantum

number is given by:

@ o0
(b) 0.1
(c) 0.1.2

(d) None of these

() IR =2 ¥ @ TAYUA F=H HEA H
HE g

(iif)

(iii)

(iv)
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(31) 0
() 0,1
(") 0,12
() TH ¥ &g T

Which element has the highest electron affinity?
(@) F

(b) d
(c) 1
(d) Na

SoIqY AT T U ATl T B @
g

(31) F

(7)) d

)1

(T) Na

The relation between normality and molarity is
(@ M=xN

(b) N=xM

) N=M

(d) None of these

(iv) @Er=ar iR Hiewd W o HeY ©?

() M=xN
(q) N=xMm
PTO
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(W) N=M
(7) =W ¥ *E T
(v)  The Vapour density of a gas 'A' is 1.5 times

v)

(vi)

that of B. If molecular weight of A is M, then

molecular wt. of B is:

a M
(b) M/3
(c) 2M/3

(d) None of these

TH T A aF ¥ T B ® AT
¥Ted T 1.5 O € A T A T SAUER
M & @ 9 B o] 9R fq=ifea o &
B2

(1) M

(d) M/3

(|) 2M/3

() ¥ ¥ = T

Which of the following is an acidic oxide?

(@ CaO

(b) CoO,
(¢) Na,O
(d) Fe,O,
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(vi) Trefafes & @ ®F ow=ig sfiFEEs @2

(vii)

(Vi)

(vii)

(1) CaO

(7)) Co,

(9) Na,O

(R)  Fe,O,

In electrorefining, the unpure metal is made:
(a) anode

(b) Cathode

(c) Both (a) and (b)

(d) None of these

foe@ Yfgwor o ogg o S STl @:
(31) T
() el
(®) (R() I
(2) 39 5 &
Compound which is soluble in water:
(a) CCl,
(b) Cs,
(c) C,H.OH
(d) CHC
PTO
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(viii) s S w@ § foem
(1) CCl,
(9) CS,
(4) C,H,OH
(3) CHCI,

(ix) How many grams in 0.2 mole H,O ?

(a) 2.6
(b)y 3.6
(c) 4.2
(d) None of these

(x) 0.2 Ha H,O0 ¥ fwan wm =Bm:

(31) 2.6
() 3.6
(|) 4.2

(7) = ¥ = T

(x) The main constituent of L.P.G is :

(@) CH,
(b) C,H,,
(c) CH,
(d) None of above
(x) LP.G &% H&a @99 ©:
() CH,
(€) C,H,,

(xi)

(x1)

(xii)

(xii)
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(9) C.H,
(2) =@ 9 =+ T
The number of H* ions in 1ml solution having
ph=5 is:
(@ 1x107
(b)  6.023x10%
(¢)  6.023x10"
(d)  6.023x10"
ph=5 =@ 1faef. e & sufeerm H s
H HEm ®:
(1) 1x107°
() 6.023x10%
(H)  6.023x10"”
() 6.023x10"

Most poisonous pollutant in water is
(a) Zinc
(b)  Arsenic
(c) Phosphate
(d) None of these
S § ety Sedell YEudh e
(31) 5=
(9) AT
PTO
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(xiii)

(9) ®he

(2) =@ 9 =+ e

A good fuel possess:

(a)  High ignition temperature

(b) Moderate ignition temperature
(c) High calorific value

(d) Both (b) and (c)

(xii) T 3T=8 TYT HT T AMMET:

(xiv)

(x1v)

(31) I=9 SHAT d9

(d) \EgH Sgad di™

(9) 3=9 TSHE AN

(2) (ITI(H)

Ring test is done for the detection of
(a) Chloride

(b) Carbonate

(c) Nitrate

(d)  Sulphate

o Srg feRas! TgEE ® fau #1 S 82
(31) FAEE

() wrEe

(|) e

(3) wWehe

(xv)

(xv)

(xvi)

(xvi)
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The main cause of acid rain is :

(a) Carbon monoxide

(b)  Sulphur dioxide

(c) Oxygen

(d) Ozone

e o w1 qed wRu e TR

(31) FHET HATFIES

(9) ToHL TRATTIES

() st

(%) A

In the formation of complex ion, the transition
metal forms ............. bond with ligand:

(a) ionic

(b) covalent

(c) co-ordinate

(d) hydrogen.

HX APA & 9 H GHH A ferie
* Ty TY I e

(31) AR

(9) HEHaATS

(9) SygsgaArst

(%) BTEgIeM

PTO
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(xvii) All types of steel contain:

(a) Carbon and iron

(b) Chromium and vanadium

(c) Nickel and cabalt

(d) None of these
(xvi)) Gt @& & TEA@ W BrAOT B

(H) ®EA T el

(@) wifew wd Sfeaw

(7)) fvar wd wHiamee

() T @ & T
(xviil) The structure of water is:

(a) Linear

(b) Triangular

(c) Tetrahedral

(d) None of these.
(xviil)STel 1 GEAT @

(31) =

(&) TR

(9) Igoherhia

() T @ & T

(xix)
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The best quality of coal is :
(a) lignite
(b)  bituminous
(c) anthracite

(d) none of these.

(xix) G99 I=Uq9 Y& H HEA HE G OB

(xx)

(xx)

(1) ferrrge
(%) fozfrg
(|) TomEEe
() wH @ wE =
The cetane number of « —methyl napthalene is:
(@ O
(b) 50
(c) 100
(d) None of these
o —Thada Juerefts &1 @eq ge Bt B
(31) 0
(9) 50
(q) 100
(3) =™ ¥ *rE
PTO
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GROUP B

Answer all Five Questions. 5x4=20

gft urer yeel & W JfNT |

2.

Explain Bohr's model of an atom? 4
IR F AW glaed & oau w2

Or (372714T)
What is an Octane number? Explain 4

AT GEa F B? TUH! SATEH HL

Write element name and electronic configuration. Which

automic number is 24 and 29 ? 4

24 qUT 29 THV] HHH I qe@ & AF qAl
sl fa=ma fae

Or (31e1aT)
Determine the number of atoms present in 4 gram of
Calcium. [Ca =40amu] 4
4 g wfegem H Sufted qwEpE w1 Hem
T | [Ca = 40amu]
What do you mean by common ion effect? 4

WH AEE Y9 9 Y HEHEd B2
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Or (31214T)
Write down the name of four region of atmosphere. 4
FEATEd % 9 &F & AW faw?
Calculate the weight of single molecule of water? 4

A H UH U] H R HG A7
Or (31214T)

Explain why electron affinity of fluorine is smaller than

chlorine. 4

AW 1 T H FAHRE Wifd FE ¥ %H
B ®?

What are the advantages of liquid fuel? 4

39 T B T Y 2
Or (31214T)

Define lubricants. What are main functions of

lubricant ? 4

“Eh H IR F| Ted & &I FE
&2

PTO
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Answer all Five Questions.

GROUP C

8x5=40

Tft o W % SW e |

7.

Describe Victor Meyer's method for determining

molecular weight of acetone. 8

THIEA &1 7 WR A e H oy 7 fafy
H U L

Or (372714T)

When one mole of ethyl alcohol and one mole of acetic
acid react together, in equilibrium 2/3 mole ethyl acetate

is obtained. Calculate the equilibrium constant 8

9 TH A SURA STohied Ul Uh HiA THifH
3T oag ¥ ufdferan &t © df GrmeRen ¥ 2/3
ool TURd THRE I9d ol W feri® Jd il

Compare solid, liquid and gaseous fuel. 8
I M, T9 SeM qen T oA H gern i
Or (31214T7)

Find the pH of an aqueous solution of 10°M HCI 8
10°M HCI® g sl &1 pH A9 Fa &1

9.

10.

15 01103/02203/P01103
Write down the name and formula of important ore of
aluminium. Describe a method for obtaining aluminium
metal from its important ore 8
T & Y@ PRl & AW W g fowl
% HGA o § TIMAMEH g WW wH @i
fafy =1 ol *

Or (37214T)

What is Dulong and Pettit's law? How atomic weight
of an element is determined by the use of this law? 8

ggeli 3R ufee fram @ 27 THEt GeEar 9 fwd
ad ® WHNY] 9R w9 W fRa wmr @2

What do you mean by hardness of water? Describe the
determination of total hardness of water by E.D.T.A
method ? 8

I F FRAT U MY F g9 22 AT fafy
% GN S H HA HINAT K1 TN HY HI Sl
272

Or (31214T)

(a) What is the importance of chemistry for engineers

(b) Discuss the four factors causing pollution of air 8

(a) st & fau WEFRmE &1 98d & G’
H Fam|

(b) &1 H WA & @ IR HRHI B T BRI

PTO
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11. Write notes on any two of the following:
(1)  Global warming
(1)  Ionisation potential
(i) Alloys
frifea o 9 feel @ W foooft o
(i) e @ s

(i) &I fawe
(i) T
Or (3terEr)
Write notes on any two of the following:
(1)  Ionic product of water
(1)  Producer gas

(i) Green house effect

frifea o 9 feel @ W foooft o
(i) S w1 AEAFH OB

(i) TR W

(i) ®Ra & g9E

koK



